How to use SNMP to show utilization cpu

Agent-General-MIB

=1 DES3016-LZMGMT -MIB

“ %1 DES3028G-L2MGMT-MIB
DES3028-L2MGMT-MIB
DES3028P-L2ZMGMT-MIB
=1 DES3200-10-L2MGMT -MIB
DES3200-10-L3MGMT -MIE

gent CPUuUti | i zati onl n5sec:

& agentStatusSaveClg

- f{} agentCPLutilization
& agentCPUutiizationlnbsec
& agentCPUutiizationlnl min

HC i

i

snmpwalk -v2c -c private 192.168.1.1 1.3.6.1.4.1.171.12.1.1.6.1

C:srznmpwalk —vZ2c —c private 192.168
SMMPu2—5HMI - tenterprises 171 .12.1.1.6
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- — ]

4B AGENT-GENERAL-MIB ”

MIE A8 = 'MIB Tiee Object name agentCPUutilization]n Smin
50 AACHIB = ;a ifo Object I 12614117112.1.16.3
T ACLMGMT-MIE =gt ':agentGeneraIMgmt kodule AGENT-GENERAL-MIB
£ ACLMIE —I43 agentBasicinfo
T AGENT-GENERALMIE agentMgmlProtqcoICapabi\it}l Bas sumtax Integer

AGENTMIB = agentiibCapabilityT able Composed symtax Tnte zex32
AT SRr=- ] agentMleapablIltyE.r.wtly Access Read-Only

o o agenttibCapabilitylndex Statuz Current

'f" BRIDGE-MIB o agenttibCapabilityDescr
DES-1228F-MIB 4 agentM bCapability/ersion Farent node agentCPTutilization

- DES-2108-81-MIB 4 agentMbCapabilityType First child None

{5 DES3M OF-L2MGMT-MIB & agentStatusConsolelnl se Description Time scale is 5 minvte. The valve will be

{very busy)

.3.6.1.4.1.171.12.1.1.6.1
INTEGER:

I }ive Seconds - 3%

C:~*snmpuwalk —wv2c —c

SMNMPu2-SMI: tenterprizes.171.12.1.1.6

One Hinute - 7 %

private 192.168

1.1
.1.8

Five Hinutes -

]
Emrer a0 o e |

1.3.6.1.4.1.171.12.1.1.6.1
= INTEGER: 24

ES-3200-10M#¥zhou ut ilizat ion cpu

OAmang T enok ut ilizat ion cpu

SPU It ilizat ion :

Five Seconds - 24 %

One Hinute - 33 %

Five Himutes - 13 ¥]



Cibiect name agentCPTutilizationlnSes

I ect 1L lxold 11Vl 121101

Fodule AGENT-GENERAL-MIE

Blaze symtax Tnteger

Compozed symta Integerdz

b ooess Fead-Only

Statnz Current

Parent node agentCPTutilization

First child Mione

Dlescription Time zcale iz 5 secondz. The walue will be betwesn 0%
iwery bnzr).

agent CPUuUtilizationlnlmn

snmpwalk -v2c -c private 192.168.1.1 1.3.6.1.4.1.171.12.1.1.6.2

C:“¥snmpuwalk —wv2c¢c —c¢c private 192.168.1.
2.

1.3.6.1.4.1.171.12.1.1.6.2
= INT

i -
SNMPvZ2—-SMI: zenterprises.171.12.1.1.6.2.8 NTEGER: 3

(LR
I }ive Seconds - 4% One Hinute - 3% Five Hinutes - 4 X[ - |

C:~>snmpuwalk —vZ2c —c private 192.168.1.
2

SNMPv2—8MI - tenterprises . 171 .12.1.1.6.2.

(R

[ES-3200-26: 44

[ES-3200-26 44

DES-3200-26 :4#zhon ut ilizat ion cpu
oHnand: shou utilization cpu

PU Ut ilizat ion :

Five Seconds - 0% Ohe Hinute - 5 % Five Hinutes - 13 ¥




FS-2900-18- 44
unnanH: sEou utifizatiun cpu

P Ut ilizat ion &

Five Saconds - 13 % Ore Hinote - 14 % Five Hinutes - 4 %]

BN Administrator Command Prompt

senmpwalk —v2c —¢ private 192.168.1.1
EMMPuZ2—-SMI: enterprises . 171 .12.1.1.6.3.8

H
senmpwalk —v2c —¢ private 192.168.1.2
EMMPuZ2—-SMI: enterprises 171 .12.1.1.6.1.8

1.3.6.1.4.1.171.12.1.1.6.3
= INTEGER: 4

srsnmpualk —wZc —c private 192.168.1.1 1.3.6.1_4.1_171.12_1.1.6.1

171.12.1.1.6.1
3

ssrsnmpualk —wZc —c private 192.168.1.2 d1.4.1.171.12.1.1.6.2
EMMPuZ2—-SMI: enterprises . 171 .12.1.1.6.2.8 EGER: 5

ssrsnmpualk —wZce —c private 192.168.1.2 1.3.6.1_4.1.171.12_1.1.6.3
=1

EMMPu2-5SMI - enterprizes .1 .12.1.1.6.3.8

NTEGER: 13

ssrsnmpualk —wZce —c private 192.168.1.2 1.3.6.1_4.1.171.12_1.1.6.2

[imeout:= Mo Response from 192.168.1.2

ssrsnmpuwalk —wZc —«c private 192 168114 1.3 6.1 4.4_171.12_1.1.6.2
=1

MMPv2-SMI: :enterprizes . 171.12.1_1.6.2.8

NTEGER: 14

[ | ] |

agent CPUuUtilizationl n5m n

Cihject ID 126141171.121142

todule AGENT-GENER AL-MIE

Blaze smtax Integer

Compozed smtax Integersd

A roess Fead-Cnly

Statnz Current

Parent node agentCPTTutilization

First child Hone

Dlescription Time zoale iz 1 mdnde. The waloe wAll be between 0%
(e bz,

snmpwalk -v2c -c private 192.168.1.1 1.3.6.1.4.1.171.12.1.1.6.3



C:“>snmpwalk —-v2c —c¢ private 172.168
SMMPuZ2-5M]I - tenterprises . 171 _12.1.1.6

11.3.6.1.4.1.1'11.12.1.1.6.3
B ="TNIEGER: 4

A,
3.

Iz

-W }iue Seconds - 2% Ona Hinute - 2% Five Hinutes - 4 X |

C:~>znmpwalk —v2c —c private 192.168.1 1.3.6.1.4.1.171.12.1.1.6.3
SEMMPuv2—SHMI - enterprizes 171 .12_.1.1.6.3 =1

-2
-8 EGER: 13

[E3-3200-26: 9%

[EA-3200-26: 4%

NES-3200-26: #zhou wtilizat ion cpu
onnand: zhou ut ilizat ion cpu

PU Ut ilizat ion :

Five Secondz - 6 X (e Hinute - 3 X Five Hinutas - 12 ¥[]

C:srznmpwalk —vZc —c private 192.168

1.1 1.3.6.1.4.1.171.12.1.1.6.3
| SHMPv2—8MI : tenterprises.171.12.1.1.6.3.8 = INTEGER: 8

ol utilizat lon cpu

PU Ut ilization @

“iwe Seconds - 9% One Hinute - 8 & Five Hinutes - 8 1]
I Object name azentCP TutilizationlnSmin

Chject ID 126141171121163

kodule AGENT-GENERAL-MIB

Blaze smtax Integer

Composed. st Integer32

Arcess Fead-Cnly

Eatus Current

Parent node agent"PTutlization

Firat child None

Diezcription Time scale 1z 5 minnte. The value will be betwesm 0%

| {wery busy).




